[lomaluHee 3agaHue

1B, T
2B, T
3B, T



1. YupocTuTe JOrudecKue BhIPasKeHUs:

a) A-B-A-B+B; e) A-B+B+A-B;

6) (A +B)-(A + B); %) (A +B)-C-(C + A -B);

B) A+A-B+A-C; 3)A-C+A-B+A-C+A-B;

r) A+A-B+A-C; u) A-(B-C+B-C)+A-(B-C+B-C).

n) A-(A+B+C);
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2. YOpocTuATe JIOTHYECKHe BhIPAKeHUA:

a) A-(B+C); 1) (A +B)-A-B;

6) (A+B)+(A+B)+A-B; e) A+B-C+(A+B+C);

B) A+(A+B)+A-B; %) (A +B+C)-(A-B)+C;

r) (A +B+C); 3) A-(C+B)+(A+B)-C+A-C;

u) (A +B)-(A + B)-(A +B).
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3. YnpocTuTe JIOrHYeCKHUe BhIPDAKEeHUA:

a) (A — C)-C; r) (A = (B = C));
6) (A —» B)+(A — B)+ A -B; 1) (A — B)-(A — B);
B) A +(A — B)+(A +B); e) A+B-C +(4 - B -C).
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